11 Homework 7 (due Oct. 31) Name: SolVTIonNS

The purpose of this homework is to explore the use of integer constraints in linear program-
ming problems, and in particular the use of auxiliary variables.
Reading: Sections 6.1 and 6.2.

1. Problem set 6.2, question 5 (page 224). [Just the first and third figures!]
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2. Problem set 6.2, question 6 (page 225). [Note that you are required only to set this
problem up as a linear programming problem with some integer constraints, not solve
it.]
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3. Problem set 6.2, question 9 (page 225). [Note that you are required only to set this
problem up as a linear programming problem with some integer constraints, not solve
it.)
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4. Problem set 6.2, question 13 (page 227). [Note that you are required only to set this
problem up as a linear programming problem with some integer constraints, not solve
it.)
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5. Problem set 6.2, question 15 (page 227). [Note that you are required only to set this
problem up as a linear programming problem with some integer constraints, not solve

it. Note also that two constraints together in the same set of braces means that BOTH
of those constraints should be satisfied.]
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6. Problem set 6.2, question 18 (page 227). [Note that you are required only to set this
problem up as a linear programming problem with some integer constraints, not solve
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7. Problem set 6.2, question 1 (page 223).
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e part (c) [Note that two constraints together in the same set of braces means that
BOTH of those constraints should be satisfied.]
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